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1 113 BHH —#% #BIIRE—RRT— NP ER(65) 1:55.750
106 (LIl AP Vortex(44) 1:57.040
3 104 IgAK &/ BSTC(5%) 1:57.460
4 111 FK 18F #BJIRE— kR — MMEFI(64F)  1:57.800
5 101 FRA B2 BSTC(64F) 1:57.840
6 112 bk Fiz #BIZE—RR— MO ERI(6%)  1:59.960
7 115 BB FET3E #BIIRE—RRT— MM ERI(65) 2:05.900
8 103 NH E= BSTC(5%) 2:06.470
9 w7 & Vortex(5%) 2:08.470
10 110 3 Bk #BIRE—-R2—MOMER(65) 2:10.250
11 114 & BZ #BIIRE—RRT—MPERI(65) 2:24.000
12 105 AH ##X BSTC(2%F) 2:26.310
13 108 FH E Vortex(44) 2:33.870

14 102 [aEp BEX BSTC(5%) DNS




